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When she scorched the entire palace — 91 777927 Y2 NoPODRA

OVERVIEW

The X3 explained (according to ") the reason the 9237 9¥2 is liable for burning
down the 77”2 is (only) in a case where the camel scorched the entire 77°2. Our
nmooIn offers an explanation why by 771°277 95 n20501 he is 27r.

19N ‘oY N9 Nt
For the entire 777°2 is considered as the place of the coal.

SUMMARY
When the camel is scorching the entire building every part of the building is
considered n>ma 2pn

THINKING IT OVER

Seemingly *"v1 already taught us” that he is 21 by n2020n since the entire 7172 is
nom DIPna 1710 M7 R, what is N»OIN adding, and why does he need to explain
this?

! Previously (in the case of the 777 Sv1w 293), the X3 explained that according to 2" he is only 2°n for the DWwn
n>m (and not for the entire w73); here however since the 923 was 7912 7727 %5 no0oon, the entire 7702 is the 2pn
nonan and therefore he is liable for 77°273 2. This is considered as a > of 9.
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